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E§=23.76MiMH|

ES=11.66mMmMiAg




( RVM
(mmHg) (%RH) (mg/L) Vol% ppm

-10 2.262 12.84 2.198 | 0.2967949 | 2967.94938

-20 1.024 5.81 0.995 | 0.1346084 | 1346.08384

R/M ziexp E *100(%) -30 0.435 2.47 0.422 | 0.0571499 | 571.49949
0 TD -40 0.171 0.97 0.166 | 0.0225335 | 225.33505
-50 0.062 0.35 0.060 | 0.0081717 81.71741

-60 0.020 0.12 0.020 | 0.0026942 26.94153

-70 0.006 0.03 0.006 | 0.0007963 7.96288

-80 0.002 0.01 0.002 | 0.0002074 2.07443

-90 0.000 0.00 0.000 | 0.0000467 0.46659

-100 0.000 0.00 0.000 | 0.0000088 0.08833

-110 0.000 0.00 0.000 | 0.0000014 0.01364

-120 0.000 0.00 0.000 | 0.0000002 0.00165
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BET

H v BET(Brunauer, Emmett,
Teller)
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BET
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